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Assertion (A) : Molecular mteractions results in emergent properties at a
higher level of organization.

Do (A) L om0 HobTee 06 2387 JBYHY S POED @;c:o: 20D
(DEED eScTeen.
e} [y
Reason (R) - All living phenomena are due to underlying interactions.
==&es0 (R) L o) 388 (HEoher wosgsorr 280 JBYB SEre SO,

Identify the correct option from the following
B0 &S IBS 2SR HBoHos

Options :
(A) and (R) are true. (R) 1s correct explanation for (A)

, (A)mpo> R)xps2. (4)8 (R) 538 956
1.

(A) and (R) are true. But (R) 1s not correct explanation for (A)
(A) $:805 (R) 3852. (A) 8 (R) 588 958e0 oot
2. %
(A) 1s true, but (R) 1s false.
(A) 3858, == (R) 3858 ==
3. %
(A) 1s false. but (R) 1s true.
, % (A)3B38 =, == (R) $psd

Question Number : 2 Question Id : 6404118482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Choose the correct statements among the following
BobardE® $BY aygpedd KHBo%ED

L White spots on leaves are due to puccinia.

SEH0Ae Bl Jprop Syfhen Senibeco.

1. Mycelium with multinucleated cytoplasm 1s called coenocytic.
800 (Bere0os® 8o (Eains Ldmgo SOAK =D HSTRBE SodiHen
LlelhleW

III.  Bacteria produce endospores under unfavourable conditions.
(B8Zre DB e_“sae_:é‘g mé&cﬁi}ﬁw @oé““cé Bleen LALE S0
IV.  Gonvaulax 1‘eIease toxins to kill fish.
ADTrerE) Hode T2 DASTrTen DI0H SoHKeD.
Options :

L II, IIT

1. ®

II, IIT, IV

2.

L III, IV

3. %8

1 T

Question Number : 3 Question Id : 6404118483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) :  The progress in biology was rapid during the past three
decades.

%o (A) L K Sortd Seeeres® 50 0@55&)&5% Qe wBhod.

Reason (R) : This was due to the invention of microscope and studies of
sexual patterns.

=80 (R) - 828 =8m0 "mééﬂ@ﬁ& LoiPoto dcie BoNE dermre

$588%88en a0,
Identify the correct option from the following
Bod =&&° 8% 2Ry HBoNod
Options :
Both (A) and (R) are true. (R) 1s correct explanation ot (A)
(A) 5800 RQz=o. A2 RIBE D558



Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
S (A)so8ci (R)Reo, A2 R KBS D8 =%

(A) is true, but (R) 1s false
(A) Reo, =2 (R) Qazo ==&
3. ¢
(A) 1s false but (R) 1s true
(A) Qezo =&, == (R) Qezo

4. &

Question Number : 4 Question Id : 6404118484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Study the following and identify the correct combinations.
(Bod =80 egohdo 3, B8 EDoJHeoH o8 oBo&.

S.No. List-1
(8. 30, S835-1

L. Algae

BNeren

II. Bryophyta

(& er
III. Pteridophyta
B e
IV.  Gyvmnsperms
Z)é;légéeaﬂm
Options :
L1
1.
I, IV
2. ®
.- [ III
II, 11T
4. %

Question Number : 5 Question Id : 6404118485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

List - II
(83- 11

Phaeophyceae
ESIOs vlEe e
Hepaticopsida
rrdse
Pteropsida
ém&&w
Gnetopsida
i)émg}njm

List - ITI
S83- 111

Sargassum
gD
Marchantia
Srosj0Rale
Equistum
&35:2260:D

(=¥
Pinus

255



Match the following
(EobarlR a3 858:05w

List-I List-IT

SBS -1 HKI - 11

A.  Velamen Roots I.  Watermelon
305 3G D)

B. Axillary buds as tendrils II. Eichhornia
(5 Sofe Hd&Ke 55°8)a0e

. Floral buds as storage food 1. Vanda
DB Borer w5tBo der Darow. Eplelas

D.  Swollen petiole IV. Agave
ad)d JEFoso &AS

Options :

A-LB-IIILC-IO,D-1IV

S A-INMLLB-II,C-IL,D-III

A-IILB-LLC-II,D-1IV

3. %

A-ILB-LC-IV,D-1I
4.9

Question Number : 6 Question Id : 6404118486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The margins of sepals or petals are overlap one another but not in particular
direction
8555 (e S w38 J(Eee wothen DE° 28 B3S® mhome L ETESES 8o
BOG DSBS
Options :
Twisted
OBOAR

1. %

Imbricate

A
._\-r

2. %



valvate
2 % Eaeeraine

vexillary

??’-\@é
4. %

Question Number : 7 Question Id : 6404118487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Presence of Eichhornia m a pond can lead to the death of
fishes.

D480 (A) : Ze8 At 8N Ko Adboed® THew $8od Hferow.

Reason (R) It is an invasive weed and occupies the total pond.

==%es0 (R) ;38 ddMos Iweed) BEHod HBN Sens) ¥

Identify the correct option from the following
(Bod &S° $BS @ YT Yook
Options :
(A) and (R) are true. (R) 1s correct explanation for (A)
(A) 0805w (R) 5838 (A) &8 (R) 3835 958¢es

(A) and (R) are true. But (R) 1s not correct explanation for (A)
(A) 5085 (R) 3859. (A) 8 (R) 388 95868 ==

(A) 1s true, but (R) 1s false.
(A) 5888, =20 (R) 3858 =00

(A) 1s false, but (R) 1is true.
(A) 3836 =, = (R) 3858

4. %

Question Number : 8 Question Id : 6404118488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the flowering plants, a mature female gametophyte is derived from the
111egasp01‘e mother cell by

ot Ik u., n:a:g@ eoESJ‘-‘ ém_e Xeasdn Sood H8%H 5; @ oK B0 E}ESOjlcﬁ:
Lﬁﬁo@S St Dfeden aeﬁ.?iwcm

Options :



One Mitotic division and three Meiotic divisions

- ¥ B0 Hbcke 3 Fob¥ten Dgwden

One Meiotic and one Mitotic division

¥ ot Ddfad obdin .8 D D
2. %

One Meiotic and three Mitotic divisions

- ¥ EohEde D obdin 3 3 Dfeden

Three Meiotic and one Mitotic division
S0 F0hEBee Desden HBAKw 2.8 Kb D=

Question Number : 9 Question Id : 6404118489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the plants in sequence with the following characters
& (806 ofmren @ SnB)oo SBoRE00s® HHoED

L Tendrillar climber, odd sepal anterior, self pollination.
DOBKS K, BB BES Hgo a’grccﬂ;oéo, @é&;’acﬂrﬁéoaﬁé&o.

1. Twisted aestivation, capsule, terminal flower.
SOBBAD HHBAR, 08E, sy Do

[II.  Bermry. Cladophylls, tuberous roots.
SHthdeo, TEELSe, HoDIE.

IV.  Geocarpic, monoadelphous stamens. oil seeds.
SrHe0, DE00dE BT, Sl Ko JgTren.

Options :
Asparagus, Datura, Arachis, Pisum

SR, SIS, @ordD, DD

Pisum, Asparagus, Arachis, Datura
2ID, SHoNR, TS, SEFS

Pisum, Datura, Asparagus, Arachis

s v DD, SErS, @R, TR



Datura, Asparagus, Arachis, Pisum

, x GRS, @)oid, eodB, BID

Question Number : 10 Question Id : 6404118490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following
(EoBarlR e2edtniham

List- I
S -1

A Amoeboid 1

o Hod Leren
B. Elangated II.

AN Bearen

c. Long and narrow [1I.

TPEIS 0800 SK)D Lesren

D.  Branched and long cells IV.

TIranSSn HBAN TEIID

Options :

A-1IV, B-III, C-I, D-II

1. ¢

A-II, B-III, C-IV, D-1

2. %

A-IV, B-III, C-II., D-I
3 %

A-IV, B-1, C-II1, D-II
4. ®

Question Number : 11 Question Id : 6404118491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

List - IT
SKs- 11

Columnar epithelial cells
gowmé NHEDHo Scren
Nerve cell

=& Leado
Tracheid

oot B0
WBC

Sg BE%eaeen



Assertion (A) : Non polar tails of saturated hydrocarbons are protected from
aqueous environment.

D880 (A) D o Doy 'gi_r@eé@é 880 moTedSn0 K0 8%
SrotHTEan.

Reason (R) : Hydrophilic heads are on the outerside of the membrane.

=80 (R) . wordgy doven S8 Dendeo ZHD aotro.

Identify the correct option from the following

Bod =&&° 5B oo HoBoPod
— tt‘l —
Options :

Both (A) and (R) are true. and (R) 1s correct explanation of (A)
v (A) 805 (R) Dzo. (A) 8 (R) B8 958

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
. (A) 085w (R) dzo. (A) 8 (R) 3B DX8es ==t
2.

(A) 1s true, but (R) is false
J (A) Q220. =0 (R) Qz0 ==

(A) 1s false, but (R) is true
, x (A) deo =0, =R (R) d=o

Question Number : 12 Question Id : 6404118492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following
(BobarRE® $8EHE aeere KHBoSEm

L Plant ash includes all carbon and morganic elements.
SnB© Crvitatalon EER SO @GR Sretrey Sotrow.

II.  In amino acid. an amimo group and acidic group on ¢ -carbon makes it
o-amino acid.
oS eoS® 2.8 oS (D HBW ¥ eREED a-5E)S $ Idko
S0P o- oBS® B0 DB,

III.  Glycerol has 3-OH groups
ASTSS® 3-OH (Keshen eoéron.

IV.  Acid insoluble fractions are called macro molecules.

e @[g}vaﬁs%@ TR :%:,a’jveﬁmaj;m @oT8.
Options :



%
) I 7
2.
LIV
3. %
I, III, IV
4. ¢

Question Number : 13 Question Id : 6404118493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following
BobarR&® 335 arapen K8owHdw

L Duplication of genome, synthesis of other constituent of cell and
division to produce new cells 1s called cell cycle.

£5°Sen BDodorr QY Lo, Ee0& DO sHersee S0 HBSH Sedifas
oo (7 Soren D8)KErQ) SndiBo wotrd.

II. Interphase is followed by resting phase.
©od8E Surd DTHSE GO

II. In every cell division, genetic variability will increase from generation
to generation.
(8B Dses D, et oX S50 5008 H8% Soe8 22300 BNErDE
SR8,

IV.  Plant cells can divide mitotically in both haploid and diploid cells.
éﬁ%&ﬁ S&S30 es;cﬁa%aﬁ \Eferen 0D esohBooeron.

Options :

10 |

I, IV



Question Number : 14 Question Id : 6404118494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The functions of sieve tubes are controlled by the nucleus
of companion cells. The companion cells help in
maintaining the pressure gradient in sieve tubes.

Do (A) . ed Tere e SFdore SoBdo Johol@hod. wed

Tees HES (Hnsd Jsmen Escﬁojcﬁawm,

Reason (R) : Gymnosperms phloem have albuminous cells and sieve
cells.

=8eso (R) : @é;,é&wu Pt el Slo N wo)foIcing e, Tod Swren
@O oW,

Identify the correct option from the following

(Eod TAE $B8S ENSERY fg¥leTotalolr
= t‘) —
Options :

(A) and (R) are true. (R) 1s correct explanation for (A)
(A) 0805 (R) 5852, (A) 8 (R) 588 dd8es

(A) and (R) are true. But (R) i1s not correct explanation for (A)
, » (A)B08cs» (R) 838D, (A) & (R) 388 d&8es oot

(A) 1s true, but (R) 1s false

(A) 5888, == (R) 3858 =0
3. %

(A) 1s false, but (R) 1s true

(A) $B%8 =°%, =0 (R) 35888

4.%

Question Number : 15 Question Id : 6404118495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Dicotleafis dark green in colour on the upper surface and
light green in colour on the lower surface.

0SS (A) ¢ &8¢ Da HESn D enddusn $nthd ehBy) Sorhs®s,
Bob Sedn 88 ebdBoibe®® aowod.

Reason (R) . Palisade tissue is at the abaxial side and spongy tissue is
at the adaxial side in this leaf.

==8esn (R) L S BB arideost éocr:wé SR RoZerein, @ﬁ&éé@oéﬁ
o Syt¥rasreiin dotrom.

Identify the correct option from the following
Bob > PSISEN o)=Y, fgtfaletnlotal



Options :
Both (A) and (R) are correct, (R) 1s correct explanation for (A)
(A) 8w (R) Dzo. (A) 8 (R) 8B8 D58ee

Both (A) and (R) are correct, (R) 1s not correct explanation for (A)
(A) 8w (R) Reso. A8 (R) 388 958z

(A) 1s true, but (R) 1s false
- (A) Qezo, = (R) Qezzo ==&

(A) 1s false but (R) 1s true

(A) Qezo = ® (R) Qa0

4.%

Question Number : 16 Question Id : 6404118496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Due to water stress the bulliform cells in grasses make the
leaf curl outward to minimise water loss.

D480 (A) e~ 3nFest 88 (Honwo Hod D Lwren IS S
Shoderds SlEre I S BntHHBHIen Darom.

Reason (R) : Bulliform cells are large. empty and colourless cells.

==&es0 (R) . 0P Serew e, b eﬁgéﬁréonﬂ BOLTon.

Identify the correct option from the following
Bod &S IBS PSR HBook
Options :
(A) and (R) are true. (R) is correct explanation for (A)
(A) 20852 (R) 583, (A) 8 (R) 3835 9558¢es

1. ®

(A) and (R) are true. But (R) is not correct explanation for (A)
. (A) 8050 (R) 358%52. (A) 8 (R) 388 958es ==

(A) 1s true, but (R) 1s false

(A) 3836, =0 (R) <836 ==
3 %

(A) 1s false. but (R) 1s true

(A) 3888 ==, =0 (R) 3858

4.



Question Number : 17 Question Id : 6404118497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Establishment of Natural committee for environmental planning and
coordmation was established by the efforts of

SASS 2B 55 AV 0506 0B 5B EeBIATH FBoHE% B LTS
o o~ G @ ®

Options :
Rajeev Gandhi
. T°ESmod

Eugens warming
cﬁmﬁ% avééoﬁ

Ramdeo Misra

=Ll
3w TPaNGR hlTe

Vallabh Panth
Sed Jo8

Question Number : 18 Question Id : 6404118498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following
(BobaeE® $8GHE araped KBoHm

I) CO, fixed by the forest will have direct economical valve.
olzen CO, %Zzaﬁ oo (Do @%é Dend oharon.

II) By reducing the use of pesticides we can protect the pollmators.
Berk % s’amvcgv TeEZ0 ShoBto oo oe DTPRK0NY), sPEzrel B 580
S,

IIT) Ecosystem services are delivered by non living organisms of ecosystem.
eS8 ISV VhHen © BB FIY I VG BIFow.

IV) Pollinators play a significant role in the enhancement of food production.
Dol DoY), Srseleren ST @il eséojgesﬁ DS ae(g Shharow.

Options :

I IT and IIT



LI, I, IV

2. ®

LHL IV
3 %

LTV
4. &

Question Number : 19 Question Id : 6404118499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct combination regarding mechanism of translocation
%‘E‘Oéﬁi’& diro|@XSn Hoth JBK SomoiHns HBohdw
Options :
Stem tip —» Sugar enters seive tube — - water flows by diffusion.
solsm B — z‘éﬁi_ém Tred Trerend QR @’J?:%%:oa: D% 9380

Sl (Bhirron

— B

1. ®
Leaf —— Sugar enters seive tubes —— water flows by Osmosis.
S50 —— B Ted TrwdRl EIdTow —— b (EHIEw
oo [RR8ER08.
2.4 ¥
Stem —— Sugar solution flows to region of high turgor pressure ——
water flows by Osmosis.
SolSn ——» S5 [mrdmo X ?oq}éﬁjciéo &g ([Fromred® (H58rk0b.
§ 5 B (B7DSe oo (@D5808.
3.
Root —— Sugar enters seive tube for metabilism and storage ——
water flows by Osmosis.
3 —— E5Bcse, Verichio B8 SE¥en =Dl oFos®d [HI8Fow
L x % (85838 ¢es oo (B858F08.

Question Number : 20 Question Id : 6404118500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Attraction of water molecules to polar surfaces in trachiary elements

eoBcaren aiddere I8 D Sered OB wendHen @56059

Options :



Inbibition
|« QIS5

Adhesions

Cohesion

DodomRo

Diffusion
D586

4. &

Question Number : 21 Question Id : 6404118501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
(Bod QR 23808

List-1 List-11
S5 -1 $5EJ - 11
A.  Nucleic acids structure I. Magnesium
%0388 efiren dom)mo SoAdacso
B. Synthesis of nucleic acid II.  Sulphur
B85 edre Sogsem e
. Stabilize protein structure III. TIron
&é5 2 Qogsee N&bﬁé RS
D. Catalase IV. Phosphorous
BLSE B
V.  Potassium
S -lowle!

Options :

A-I, B-1V, C-II, D-III

1. %

A-V, B-1, C-II, D-III

2. ®



A-IV, B-V, C-II, D-III

3. %

A-1V, B-1, C-II, D-III

4.

Question Number : 22 Question Id : 6404118502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Bacteria that oxidise Ammonia to Nitrite
EEWIe E@e‘fm @é&ﬁ&oﬁ cedacse
C K]
Options :
Psendomonas

SRS RETD

Rhizobium
B Davo
2. &
Nitrococcus
555
3.
Thiobacillus

fJovbiondISH)
4. ®

Question Number : 23 Question Id : 6404118503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose mcorrect statement from the following
(BobardE® $85°R amgarR)) HBoNED

Options :

Ligases linking of C — O. C — S, C — N bonds
C—-0.C-8,C—N zogros 502 JoBEdmen Bnden

1. %

Hydrolases catalysing C — C, C — halide P — N bonds
=PE88S C - C, C - 88, PN nogre 9300 ée'cﬁo:,c‘foww.

Isomerases catalysing transfer of a group between a pair of substrates
Both Jod@rAsre gy SSnmrdired Saree B0 2T Een



Oxido reductase catalyse oxidation reduction reactions
e E85ESen ed\%8n - KoHssn $5o (258%a0m
o) & V) b=y () e

4.%

Question Number : 24 Question Id : 6404118504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Decrease in the proton number in stroma and accumula-
tion of more protons in the lumen creates proton gradient
accross the membrane.

Q4o (A) : @ég?ﬁeﬁ’a BrerS Sogy Siftio HBakn ©¥85E° (FrerS Soey
BKE0 Toe Srore Bo adbdere gy [@rerS (D808
DY ok,

Reason (R) . Energy is released by the break down of proton gradient
by ATP ase helps m synthesis of ATP.

==8e0 (R) ;. ATP ase oo (grerS reEs (s D)8 oo DSBS 48

ATP Sogshed 85)k&ot.
Identify the correct option from the following
Bod =& 5B g lgvelelatel
Options :
(A) and (R) are true. (R) 1s correct explanation for (A)

_ (A) m0cs> (R) 452 (A)2 (R) $BS 258es
1.

(A) and (R) are true. But (R) 1s not correct explanation for (A)
. (A) 805 (R) $5859. (A) 8 (R) 388 95868 ==t

(A) 1s true, but (R) 1s false

(A) 3858, =20 (R) 3886 ==
3 %

(A) 1s false, but (R) 1s true

(A) 3886 ==, =0 (R) 3838

4.%

Question Number : 25 Question Id : 6404118505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Choose the cormrect statement from the following
Bod maped® K8@S A0 KBoHsm

I) In Hatch-Slack pathway mesophyll cells lack RuBisCO enzyme
RS H5od0tH SErodd Srred® SrdRE) QOB S0k,

IT) PEP carboxylase is present in bundle sheath of chloroplast
oo &% Yoo 88005 PEP 90})5&55 €08008.

III) OAA is formed in mesophyll cells.

SlEeosd Xemreod® OAA $A5858508.
IV) PEP is primary CO, acceptor present in chloroplast of bundle sheath cells.

Too How FEK Koo 888tk CO2 2 (K803 (Bed0s (Ké=s PEP.

Options :

LI

1%
I, ITI

I, III

3. ¢

I, IV

4. &

Question Number : 26 Question Id : 6404118506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Arrange the intermediate compounds of Kreb's cycle based on number of
carbons m ascending order.

B $00H0E5D Sty Sweren TAD0E) BYS Sogy errdore w8 (Eos®
@é}é@.o&‘

Options :

a - Ketoglutaric acid, Acetyl CoA, Citric acid

o - 85¥KrerBE wipo, 9288 CoA, HBE wo

Acetyl CoA, Citric acid, a - Ketoglutaric acid
0285 CoA, HBE expo, o - E5°KrerdE wxo

a - Ketoglutaric acid, Citric acid, Acetyl CoA
o - 8P KperaE w0, HBE w0, 28 CoA



Acetyl CoA, a - Ketoglutaric acid, Citric acid

o285 CoA, o - 85°KrersE wiipo, HBE vko
4.

Question Number : 27 Question Id : 6404118507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
(Bod QD 23858005

List-I List-II
885 -1 385 -11
A) Kinetin I) Terpenes
3383 8EF)
B) ABA II) Carotenoids
28 &rcn&en
C) GA, IIT) Indole compound

208°S BrAscen
D) TAA IV) Adenine derivatives

& e
& ese‘_"gda“ &0
Options :

A-1V, B-III, C-I, D-II

1. ®

A-IV, B-1, C-II, D-III

A-IV, B-1I, C-1, D-III

3. ¢

A-1IV, B-1II, C-1I, D-1

Question Number : 28 Question Id : 6404118508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct series of bacteria that cause Tetanus, Diphtheria, Crown gall
and Blight, respectively

-

BersS, 8580t BSreS 58 B Bibes E00T wrEBairexs SHXES0E® HBoHB0s.

]

Options :



Clostridium, Corynebacterium, Agrobacterium, Xanthomonas

=
=

?;@&cﬁao, E"aﬁméacﬁaw, @l mwéao‘iogo, oS ErTD

Vibrio, Diplococcus, Xanthomonas, Clostridium

OB, BEPsER, wof RS, ':.;:L‘;&

2}

Xanthomonas, Agrobacterium, Corynebacterium, Clostridium
oG TR @tﬁsmuﬁcﬁao E83ar28005, Thaaho

=
[

3.8

Corynebacterium, Agrobacterium, Xanthomonas, Clostridium

£83eri8ch S, &'J@“;FEEJC%JSJ oS D, q@&cﬁ:o
4.%

Question Number : 29 Question Id : 6404118509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Number of nucleotides in viroid
Soeond Sothre SrpdErser Sogy
Options :

300 - 400

1.

6500

Question Number : 30 Question Id : 6404118510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The phenomenon of a single gene product may produce more than one effect
so that a single gene may be related to more than one character.
gl ey e AN o E&%08 cD..JSf‘: (BHeraron S Foheo Sed ol e © 2.88
%08 afo;é @éwué& Qo200 EOR Gotnod.

Options :

Codominance

Qrwergds o



Incomplete dominance

L e -
. wmowg wmgéwo
Pleiotrophy

s v g (DS S

Independent Assortment
Sedole el

4.%

Question Number : 31 Question Id : 6404118511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Mutation 1s a phenomenon of
eséojpégé O30 ¥ @,ﬁ;ﬁcﬁ:o

L Alteration of genes
&é}g&@;@éﬁ 5&)505&?&)@)
i Variation in DNA
DNA &° SOGgen
III.  Heritable change m genotype and phenotype of an organism
o8 B9 aiygdrdo, @.@é:ua’:oé* S0(E00T Soedyen
Options :

.« lonly

IT only

2. %

LI

3.8

L[ II, IIT

4.

Question Number : 32 Question Id : 6404118512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Choose the incorrect statements among the following
BobardS® $85°R aroyeld KHBosE

L Purines and cytosine are common in DNA and RNA.
J%0Sen HHdase 265°08 Frordeore DNA 508050 RNA & éoéron.
1I. Thymine 1s present only in RNA.

$0H0S RNA 6° $Sre@d @otnod.

II. Uracil 1s present mn DNA at the place of Thymine.
DNA &° 80505% ofeor oo aotnod.

IV.  Adenine and Guanine are Purines

w830 S0 MSSe TBRen wotrd.
Options :

Tand 1T

1. %

IT and IIT

2.

I and III

3 %

T and IV

Question Number : 33 Question Id : 6404118513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In prokaryotes the DNA i the nucleoid is organized in
large loops held by proteins.

8o (A) . ZBols¥ Kgyné;éa@efﬁ $r8a5ronEed DNA o3 %:'ﬂé&:&s @od
@‘%555 20HEI BoEnod.

Reason (R) - In prokaryotes, a negatively charged DNA molecules held

with positively charge proteins.

80 (R) . Dolss 8 €&, oS0 SHSDNA, $380 508 @05 8°
DOHEZ Sonod.

Identify the correct option from the following

Bobd T&S® $BS 2O)sq) KBoSod

tJ
Options :
(A) and (R) are true. (R) is correct explanation for (A)

_ (A)saak (R) 5588, ()8 (R) 538 a5
1.



(A) and (R) are true. But (R) 1s not correct explanation for (A)
(A) $:805» (R) 5858, (A) 8 (R) 588 958 ==

(A) 1s true, but (R) 1s false.
. (A) 3858, =2 (R) 3858 =0

(A) 1s false, but (R) 1s true.
(A) BB =°th, == (R) B8

4.%

Question Number : 34 Question Id : 6404118514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
(Bod QR wesHBosn

List -1 List - I1
S%S -1 SIS |
A, Or I.  Low molecular weight

O ©rFESED

B. Selectable marker II. Single recognition site to link alien
$¥es0 BoSKe $8)6 DNA
2sdopiden o 2.8) 8o 5‘; Q) EOAS
To3dc%h DNA goéso
o Cloning site III. Permiting the growth of
£°00h &R0 transformants

SBREHo TodS Lere DHHBLE

D.  Cloning vector IV. Controlling the copy number
£500R o ssw of linked DNA
éou@;_oé DNA éﬁé‘; RogRo
Q0Ho(BoT i

Options :

A-IV, B-III, C-II, D-I

1. ¥



A-L B-1I, C-1II, D-IV

2. ®

A-IV, B-1I. C-III. D-I
3 &

A-TV, B-1, C-II, D-III
4, %

Question Number : 35 Question Id : 6404118515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following
BobardS® $BX aygper Ko W

L Pure DNA can be isolated by using ribonuclease and proteases.
BS° Srpfchd Hobok Fr8ISe wroe HF DNA & IthBohs.

1I. Ethedium bromide staining facilitates the visualisation of DNA
fragment in Agarose gel.
DBESHo (B°DE o3 BrALes vddozo 3{&53&&26%3&0 DNA Snfes
KBS SSy .

II.  Sticky and ligation techniques help to cut the gene of interest from the
source DNA.
Surerged DNA $008) aros3d0H s 3600 oHd)S Fde BRAS 58
Esdﬁojc‘foéaoﬁ.

Options :

I III

1. %

IT only

2. %

[ I, III

3.

I only
4. %

Question Number : 36 Question Id : 6404118516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Protein toxm produced by Bacillus thuringiensis that kill corn borer
B9l (HS0BAbYD T SATHBadnY e8)S BrES =5 756 dadoBos

Options :

cry
1. % -

cry IIAb

2. %

cry IAc
3. %

cry IADb

4.

Question Number : 37 Question Id : 6404118517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement among the following
Bod TRS° $SBG@S oo KHBowHH®

il Validity of GM research and safety of mtroduing GMO has to be given
by GEAC.
GM $588°%55en, (See BT @288 GM dHo gldde S8ys°08 GEAC
©30 Jgairen &0 0t00d.

1I. Molecular farming means utilization of plants as biofactories for
obtaming commercially useful products.
InBes E508Eewm T8 TBerBED al)HoH Fosirl) v NS0
BOEFS.

III. Basmati Rice variety 1s a transgenic plant with improved nutritional
value.
230NN BobS B B0 $6 VAL Denden 59 Goérom.

IV.  “Flaur savr” 1s suitable for food storage technology.
58 B8 s w80 VOSTOLErE SREFRHEHE08.

Options :

LI, III

1. %

I1, IIT, IV

2. %



1

3.

L L IV

4. ®

Question Number : 38 Question Id : 6404118518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The following hybridization crop variety 1s not an msect pest resistance variety
& (Bod Jo¥des TY) & £er% 965558 Ses
Options :
Pusa Sawani

L Srar S

Pusa Gaurav
Srar P88

Pusa Komal

Pusa Sem 2

e > 2

Question Number : 39 Question Id : 6404118519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) :  Propionibacterium sharmani 1s responsible for large holes
m swiss cheese.

Do (A) L (P ArDarg f6apo 36503, B HESE 2 Bolgren )
B iresSHtsod.

Reason (R) : Characteristic texture, flavour and taste of cheese 1s specific

fo microorgansisim.

s=&e0 (R) D w2l Teepd, Sumedd HHf) 8 Sasrb &’ Lé@aﬁon‘ SITeACT
:-OJ" EHe itk Sendob.

Identify the correct option from the following

Bod =&&° 5B 25y, oBotos
Options :

(A) and (R) are true. (R) 1s correct explanation for (A)

(A) $805 (R) $85. (A) 8 (R) 585 D586
1.+



(A) and (R) are true. But (R) 1s not correct explanation for (A)
, x (A) 085 (R) 5883, (A) & (R) 5885 O58es =t

(A) 1s true, but (R) 1s false
(A) 3836, =20 (R) <836 ==»

3. %

(A) 1s false, but (R) 1s true
(A) 3B86 =oth, =R (R) 3838

4. %

Question Number : 40 Question Id : 6404118520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following
Bod RE° $SBFE Tvmpeds HBoHHEW

L Streptokinase i1s produced by streptococcuis.
Lﬁ:&?ﬁffﬁ oo @5‘5335 BA5REH S0s.
£ &2 @ ef—
II.  Saccharomyces cerevisiae 1s used for commercial production of Ethanol.

g8 DRSS DBOHI BT ‘%;owé‘g BETeD SOTOE° EEedh.

III. Cyclosporin-A blood cholesterol lowering agent produced by
Trichoderma polysporum.
E BBS-A 3 8Eos® TS $hoT 8o FEFoy SIS0 509
DY .

IV. Statin produced by yeast.
ST eITrRoD FASH edE Iz,

Options :

[ IO, III

I1, I, IV

2. %

L1 IV

3. %

LILIV

Zoology



Section Id : 640411183

Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411183
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 6404118521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Taxonomic him'ar«::h}r includes the following obligate categories :

$688e S (Ho8® & (Boh wdEeE wosihe Sotra |
I) Class II) Family ) Kingdom IV) Order
DEPH0 L0080 TR0 |g590
V) Species VI) Phylum VII) Genus
el 380 |sdeoe

Arrange them in correct sequence
58 2B H5S (B0
Options :

. ML VLILIV. VIL V
1.

ILVILIV.V.VLLL. III
2. %

IV.I. II. VI VIL. V., II
3.8

O, VL LIV.II, VIL. V
4.

Question Number : 42 Question Id : 6404118522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which factor 1)1‘i111ar1'1v contributes to greater biodiversity in the tropics ?

(8ot exishode [Frodod® ws S5300mR) (20903 Fees sk 2k ?

Options :
Large seasonal variations

whE sPerdhn SEHeD

High niche specialization
) Q,@ ':.m c\.,'u w @j‘/:
Frequent habitat distrubances

“ A ward wodoeairen



Low resource availability

4 % 55 e oghs

Question Number : 43 Question Id : 6404118523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Radial symmetry is an advantage to sessile or slow moving
animals.

D3ydo (A) D S go ey Boe Jiy0re 568 modon wrer edbiEvo.

Reason (R) : Thes.e ammals lne in water and can reapond to stimuli that
arrive in one direction.

==;o (R) . & digen HAS® SV a8 B Hod :f‘: (BBe% & Sobaeon.

Identify the correct option from the following

808 7BE° I/ eseRy HhoSod
Options :

Both (A) and (R) are true. and (R) is correct explanation of (A)
| (A)®0al (R) a0, (A)8 (R)ZDS D6ws

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
¢ (&) 0am (R) Aeo, (A) 8 (R) JBH D566 s

(A) is true. but (R) is false
3 (A) Rezo, =2 (R) D220 ==t

(A) 1s false. but (R) 1s true

(A) Rezo ==th, =20 (R) D=0
4. &

Question Number : 44 Question Id : 6404118524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Statement-I : In articular cartilages, perichondrium is present.
wodo | : Sobde 5’3%:,53@'&35 ;55’%&3@% BoLNod.
Statement-II  : Intervertel discs contain fibrous cartilage.

woio II . oodb %X3%¥ JB%ed® Hodoing Shod totnod.

Identify the correct option from the following
Bod =&&° B 2in==Q) ool

Options :
Both statements (I) and (IT) are true

wozren L, II 588
1. ®

Both statements (I) and (IT) are false
wozren [, II 5388 =%



Statement-I 1s true. but statement-I1 is false

wodo 13886, == II 5B ==th
3. %

Statement-I 1s false, but statement-II 1s true

wodo [ 53K ==, =R I 5BRG
4.

Question Number : 45 Question Id : 6404118525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Blood-brain barriers are formed by
(BobarRd” 55—t wsb gren 285

Options :
Astrocytes

L ol péSen

Ependymal cells

S 060S Segeen
2. &

Schwann cells
5 % o0 Stren
Satellite cells

THBE Sescen
4. &

Question Number : 46 Question Id : 6404118526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an echinoderm 7
Bob a0 uPITCE) €2 26 ?
Options :
Sea lemon

g © B0

Sea fan

5
I

Sea hare
Ry ]

Sea urchin
B ons B
o O

4. ¢ -

Question Number : 47 Question Id : 6404118527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
(Bof &0 2858008

Animal Class
2o Dzriio
A) Feather star I) Bivalvia
66 ¢ BarEraie
B) Acom worm II) Asteroidea
Il 5§ Pronéair
C) Pearl oyster III) Dlplopoda
S0 D) I vge
D) Mllhpede IV)  Enteropneusta
SeRRarh QOB R

V)  Crinoidea
(ERglenlatenie
Options :
o A-IL B-IV, C-III. D-I

A-V. B-III. C-1. D-II
2. ®

A-V.B-IV. C-I. D-II1

A-TIT, B-I. C-IV, D-V

Question Number : 48 Question Id : 6404118528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The type of dentition found in vertebrates that lack a renal portal system

PTS5390 F200s JEImmest & 555 Sod D0 GOLNOB.

Options :

Thecodont. homodont. polyphyodont

L% fgcos, Sshiod E-R;céf;o 2sFoartitios ij 0
Acrodnot. homodont. diphyodont

s mrot), Hihtiod oo, Byrttiod Hargo
2. &

Thecodont. heterodont. diphyodont
118508, D5Entod Aaedo, Eerdtiod Aagdo

Pleurodont, heterodont. polyphyodont

4% GBS, Dastios S50, BTwarbiiod TR0

Question Number : 49 Question Id : 6404118529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following and pickup the incorrect combinations :

(808 wozren egiiaHibo U0 JOwR hEfRoDwd HBoSos.

S.No.| Group Fluorished in... Example
S0, | Sdpdo é&c‘gio&é SO0.... GarrEEden
1) Pisces Devonian period Catla
Jsien &P 0aHS dorfo sode
1) Amphibia Cretaceous period Calotes
&eicsoren (B&IhonSH ario BEBE
III) Reptilia Mesozoic era Hemidacivius
R0 aren SoRrefons Soseasurio TPbGPEOR
Iv) Mamnimalia Palaeozoic era Felis
&6oren 23S onE SHEamiio 295
Options :
L% L IV
5 w 1L I
3 ¢ ILIV
LIO
4. %

Question Number : 50 Question Id : 6404118530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Number of flagellae in Giardia
2cirdairE® Segre Hogy
Options :
Two
P
L% Boh
Four

TR

3.

Question Number : 51 Question Id : 6404118531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following and pickup the correct statements
(8ol T weiabIo BB ¥PD woTed HHoS0d

I) Flagellates exhibit gliding locomotion with the help of their flagellale
rEDenen S5 Segre 5PaDo8 e Mard) Srd@ron

II) Multiple fission in Amoeba in called sporulation
edper &° 267 asuge DS FDBAS B0t

IT) Syngamy in ansmodm;rn is lloloz'mly type

P5Eao & =0h Soasny Sodrto FEh 8o
V) F‘LIS-.lOll of pronuclei of gametes is called amphimixis

De: Ser0s™D (FE0(e Soonsd DodHHER wotrd
Options :
pow LI

II. IV
L4

Question Number : 52 Question Id : 6404118532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
Bod &0 =858508

List-I List-I1
585 -1 5835 - 11
A) Morphine I) Cardio vascular system
SN S (@080 SR
B) Cannabmoids II) Tranqulizers
Xordmronben (Brodsren
C) Cocaine IIT) Sleeping pills
28 QS Soo(Bexn
D) Benzodiazepines IV) Pain killer
BoS KSR bl 8 addsdo
V) Dopamine
E5DS
Options :
A-IV, B-1, C-V, D-IT
1.

A-TIL, B-II, C-1, D-IV

2. %



A-1V, B-III, C-V, D-II

3 %

A-II, B-V, C-1, D-IV

Question Number : 53 Question Id : 6404118533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Excessive consumption of this drug causes hallucinations.

i = = ~ o S a5 ) o Bt
& o8 (Barg)) @b dranthE® WAy (grods trdssot.
LeT o &

Options :
(&

QO
g°
1. g

caine

am

Morphine
EalaNe)
2. %
Heroin

3 % IRORODR

Charas

Ealer)

Question Number : 54 Question Id : 6404118534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pick up the wrongly matched pair

Spre &) 28 Hhiodod

o [=
Options :

Lymphoedema - Swelling
L% Dogtalsr - a0

Lymphangitis - Inflammation m lymph vessels

DoaPoBAH - 585 areed’
2. % -

Lymphadenitis - Inflammation in lymph glands
- DoFToAS - 355 (Hoghed® a5

Lymphoma - Filariasis

DOTESF — DBBOTHD

Question Number : 55 Question Id : 6404118535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following statements regarding respiratory system of cockroach and
identify the correct option :

€008 T Yy Hbod (508 WoTru 8GN0 Sty PSTo ] DS rhgodod.

Statement-I : Cockroach possesses 10 pairs of spiracles.
wodo I : @°ho8 10 ede Toyddopra 597 60nod
Statement-11 : The spiracles of cockroach are holopneustic.
wodo II : €P°go8 Rtolgren FERSES 50

Options :

Both statements (I) and (II) are true

wozen I, II 5858
1. ¥

Statement-I is true, but statement-II is false

wodo 13856, s ILHE8H6 5=

Statement-I is false. but statement-II is true

wodo 130768 soth, 500 II 5856
3 %

Both statements (I) and (II) are false

wozeen I IT 38258 5959
4. %

Question Number : 56 Question Id : 6404118536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In cockroach. principal motor centre is
008 &% Sngg s Solko

Options :
Brain
L% oeses

Ganglion in 6% abdominal segment

&80 ang) 633 PodEod) a0l

Sub-oesophageal ganglion

o8 esB8artrse Eh00
3.4

Ventral nerve cord

4 & 668 &6 doto

Question Number : 57 Question Id : 6404118537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct statements :
&oh 89 &oé ahs50 DD, 20 wozren HBodod ¢

I)  Daphnia exhibits cyclomorphosis
Al (g ErEH8ahd g0 J06.

IT) In a thermally stratified lahe of temperate region. the upper layer in winter
13 epﬂimnion

-Sé'ﬁ% Sotswos® decsreod® ﬁ:o”;lﬁll’i@“ wDéés 0 220AR ru(jr\_q}"‘q’t D 8

BNESLE Jori

IIT) Niche is the functional role of an oganism in an ecosystem
St :“aée" £yen Dol (SairES REh D wotr.

V) Bermnans rule states the 1e1a‘r10119.1up between temperature and metabolic
rate of animals

&880, £do £33 Srfow Mty Somogr) BFHS Ko BOCHERH

M

Options :

Question Number : 58 Question Id : 6404118538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
(Bl s iod0d

List-1 List-IT
S5 -1 385 - 11

A) Telvox I) Phytoplankton
Foxs) 580

B) Notonecta II) Benthos
Seage BorsH

C) Aquatic snails III} Nekton
BodE Hden e i)

D) Chironomid larvae IV) Neuston
BE*S"E Gogleeen SRS

V) Penphyton
20 3ERS
Options :

A-I, B-IIT, C-V, D-II
1.

A-IV, B-IT, C-V, D-I
2. %



A-II. B-V. C-III. D-1
3. %

A- BIV, C-V, D-II
4. &

Question Number : 59 Question Id : 6404118539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Cattle never feed on the leaves of Calotropis because of the presence of these
chemicals
$HHen FSUTBDT eHeors oder SXEPITOE 8no TES® el & SFCHTT
Options :
Cardiac glycosides

==8c3=E R Gen
o] s e
1. %

Lignin and chitin
DS oBcin &S

Nicotine
QEES

Oprum

Vg SHoth

Question Number : 60 Question Id : 6404118540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Pancreatic juice contains steapsin
D8ygo (A) : E0soe® HorayS &oenos.

Reason (R) . Steapsin helps in protein digestion
580 (R) OIS (PAS £58ans® S haon.

Identify the correct option from the following

Bob BE° 5B wYseRY rHBoSod
Options :

Both (A) and (R) are true. and (R) 1s correct explanation of (A)
L% (A) sbB8aim (R) deso, (A) 8 (R) &85 D56

Both (A) and (R) are true. but (R) is not the correct explanation of (A)

. (A) oBain (R) Deso, (A) 8 (R) &85 D58 s0eh

2.

(A) is true, but (R) is false
3 (A) Dez0, =0 (R) dzo =oth



(A) 1s false, but (R) is true

. (A) Do ==k, =2 (R) =0
4.

Question Number : 61 Question Id : 6404118541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is not involved in the regulation of respiration ?
(Bod a06° FHEoh Doholdns® SKEa6.

= By

Options :

Pneumotaxic centre

Chemo sensitive area

lov s i Eviletite!

Hypothalamus

- P:D@c:é;oéo

Aortic arch receptors
S0BN TDH (resrseen
4. %

Question Number : 62 Question Id : 6404118542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Following are different stages in blood clotting. Arrange them in correct sequence:
BE5088 (BBHER DPE Bden Bod aXrnrron. TED /Y 585 ELos® edioh.

I)  Activation of prothrombin
[BFm~ofS sasso w5to

II) Formation of prothrombin activator
[Biz0dS 83280 Ao

III) Conversion of fibrinogen into soluble fibrin
2058 %81 OIS S0

IV) Clot retraction
D88 LIgRe

V)  Conversion of soluble fibrin into insoluble fibrin threads
£87 DS 5550 2ES wrorenre DYjEwo

Options :

ILL VIO IV

1. %

1L 1 0%, IV
2.¢

LJLIOLIV.V



IN VI LI

4. %

Question Number : 63 Question Id : 6404118543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Statement-I . Excretory organs in crustaceans are coxal glands.
oo I : ERRonEe’ DNgsHcharey 56 (Hoghen.
Statement-II ~ : Various volatile materials are eliminated by luings.
wodo II @38 erpde Sorpen 6208&He oxoe Jendd8 Sharon.

Identify the correct option from the following
Bob &E° I/S wdEeR) HHoSod
Options :
Both statements (I) and (II) are true

wozeen LI585

1. ®
Both statements (I) and (II) are false
mozren L I1 5056 5759

2. & .
Statement-I is true. but statement-II 1s false

3 % wodo [ 5330, =20 I {0586 seth
Statement-I is false. but statement-II is ture
wodo IH830 soth, 520 113836

4.

Question Number : 64 Question Id : 6404118544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following :

(Bof 8D 2605008 ¢

Disorder Character
eREw ogmo
A)  Myasthenia gravis I) Uric acid erystal deposits in joints
SaRRET ([(FDD Sg)6° anr0§ e HBse 2850
B) Muscular dystrophy IT) Low bone density. Fractures
goisy éeaé Jemse FPolEE Sito, DBATRSE
C) Gout IIT) Progressive muscle degeneration
e (Evorr Bodoren ée%oﬁéﬁﬁeﬁtéo
D) Osteoporosis IV)  Auto-inmmmne disorder
ST DS Habo BrIBES drys

V) Cancer of bones
Jsmsed® 255
The correct match is
GBS & hboshin
Options :

L% A-TIT, B-II. C-IV. D-I



A-TI, B-I, C-I1I, D-IV

2.

A-TV. B-L. C-II. D-IIT

A-IV. B-1II, C-1. D-II

4.

Question Number : 65 Question Id : 6404118545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct combmations :

(808 wozren egiiabido DR BN oot hbodiod.

S.No.| Organ Sympathetic Parasympathetic
Nervous system Nervous system
2.50. | «3dhdo JFELErE 0 é;té;g B HFEbrE =0 é;a’:ag
I) Eves Pupil constricts Pupil dilates
SlEeen Bodar Bodonaiio Sl RALVelale
IT) Blood vessels | Constricts Dilates
68 Trgren Hododto Do
1) Digestive tract | Inhibits peristalsis Increases peristalsis
&8 %o 202088 55508 o | 2OPDHE SriDsen
whdhaso
V) Pancreas Stinmlates activity Inhibits activity
g0 Basrded (@0Dosatoo | Bardeud drnwo
Options :
% d B |
5 % III. TV
LBV
3. &
0, T
4. ¢

Question Number : 66 Question Id : 6404118546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0




Match the following

(Bob AR mdthin

Hormones
#ﬁean'i)m
A) Insulin
=Rt
B) Estrogen
éal\a;é@{%
C) Oxytocin
ede5%S

D) Thyroxine
FodS

o

Identify the correct match
85 esded roboied
Options :
- A-TV. B-1. C-III. D-IT

A-ITI, B-II, C-IV, D-V

- A-IV. B-I. C-II. D-IIT

A-V. B-IV. C-IIL. D-II
4. &

Question Number : 67 Question Id : 6404118547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hormone that is having receptor on the suface of target cell membrane

I
1)

IIT)

V)

Chemical nature
BrahsS Sggrdo
Steriod

Felegera

Peptide

-
ol

o1

!

Amine
£ =

Hodlded
o

o]

i

Protein
(e
Polysaccharide

5806

©F ¢ S0 @ng) Sl 6508007 (Mersed)) STA & 5”7555,‘5
=) (Sx ol o [=8 ol )

Options :
Estrogen

. oheR =
L% SIPES

Thyroxine

Fog)S

2. %

Epinephrine

ajo}ﬁ!%.]:%
3. \

Testosterone

T S
@3@@'0?:\)
4 @ [=1]

Question Number : 68 Question Id : 6404118548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Somatocrinin is secreted by
TS EISH HD0lb

Options :

Pituitary gland

& t
[ x 2 aesl (b

Hypothalamus
5 o 5080

Adrenal glands
&,E'; F) (Hoghen

Parathyroid glands

. rorgoronG (foghen

Question Number : 69 Question Id : 6404118549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
MHC class II molecules are primarily found on
=25 II MHC seden (Zrdfore H8D soeron
Options :
All nucleated cells
L% @) So[BE Herd Swren
Red blood cells

20 08 Scen
2, % SR

Antigen presenting cells

3 (ESesdE DHE Seren

Blood platelets

68 Jossw
4. &

Question Number : 70 Question Id : 6404118550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion(A): Placenta of human beings is called haemochorial type.

280 (A) : PRPeS’D avang SFars oS So.

Reason (R) : Chorianic villi of the foetus comes into direct contact with the
maternal blood.

6o (R) @ Dokl Sordin Srsisren D60 SrEP508° Ho@0o SOA sotron.
Identify the correct option from the following

8o &S 985 ® S Eoslelelaelay

Options :



Both (A) and (R) are true, and (R) is correct explanation of (A)
o @) 300 (R) D0, (A)8 (R) 558 9566
Both (A) and (R) are true. but (R) is not the correct explanation of (A)

(A) 5805 (R) D=0, (A) 8 (R) £ 2568 =25
2. ®

(A) is true. but (R) is false
3 % (A) D=0, =2 (R) =0 =2th
(A) 1is false. but (R) is true
4 % (A)eso =oth, =20 (R) dezo

Question Number : 71 Question Id : 6404118551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

One of the following is not associated with male reproductive system of man.
(Bob rEG” Sl Y, (DedEd aﬁéé{g& fomoiio DN Gokh.

Options :
Seminal vesicles

| % HlseEoire

Prostate gland
Eolevisl(gfela)

Bulbourethral glands

apﬁ‘i}dﬁ;)ﬁ@s@ [tfothen
3. %

Bartholin's glands

erBOS (fothen
4 D el AL &

Question Number : 72 Question Id : 6404118552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pick up the hormone releasing intrauterine device
53355@5&:50 VDB T Hondairods Freiaed)) HBoSos :
3 @
Options :

Lippe's loop

D3 Brn
)

Multiload 375

, x D98 375

Copper T
3 &% =56 T



LNG - 20

LNG - 20
4. ¢

Question Number : 73 Question Id : 6404118553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If two heterozygous tall garden pea plants are crossed. the expected genotypic
ratio in their off spring is
Both D aSnfe SPEDH & aod Inged Jo8dwo Tn, T JoseHo TN
epirs) D58

Options :

L% 3:13

2. %
3. ¢
4.%

Question Number : 74 Question Id : 6404118554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct statements :
(B0 &) egichDo D 788 mozrein hiodod ¢

1) In DNA finger printing, DNA is cut into small pieces at specific sites by
restriction endonucleases.
DNA %0556 (Bofoh (H8che® DNA & .J%@ Tod® OF) 07 SnHeorr
BRES JofiradhEus® o,

1I) Transfer of DNA strands on to the nylon membrane is called southern
blotting.

DNA 5o Jerd 9538 abd Tahoed) S568 rBoh eotwd.
IT)  The largest known 1111111311 gene codes for the protein dystrophin.
Sr3HAE° e TE3S adyd AT oI HESH Ho88H08.
IV)  Least number of genes are located in Y-chromosome.
08 S ;’30335@’3 asigsHen Y (B3t 506° eotran.
Options :
I only
I 5mlead

I and II only

1 508asn 1T Smiesah
2. ®

I. II and IIT only

3 % L II 0B IOI Segad



I IL IIT and IV

L II, IO 508050 IV
4.

Question Number : 75 Question Id : 6404118555 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0
Match the following

1Bob 78 26008

Method of sex determination
Dolidoede 386
- -

Ay XNuXy I)
By XX<X0O I0)
& 2w I10)
iy ¥ET0 V)

A%

Identify the correct match
20 msd rboshsin
Options :

. A-TI. B-III. C-IV. D-V
1.

A-TII B-IV. C-1. D-II
2. ®

A-V. B-II. C-IIL. D-IV
3 %

A-TIT, B-I, C-II. D-IV
4.

Example
el Pupletc]

Grasshoppers
SoeSeden

Birds

Sgen

Human beings
SERsyen
Moths

Sr&en

Honey bees
S380en

Yes

Question Number : 76 Question Id : 6404118556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gynaecomastia is a symptom of

RS Srhar 59 efmo
8 5] L

Options :
Klinefelter syndrome

S0, . F B, B
So 00 oI 0
Al L

1. ¥

Twrner syndrome

&85 DolEH
2. % )



Down syndrome
&S Dol

3. &
Edward syndrome
AT Dol

4. ® X~ o

Question Number : 77 Question Id : 6404118557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Stabilizing selection favours intermediate traits and removes
extremes.

2330 (A) ;20866 S56w0d® St D € (@ Erodnd Botk D8
&) €en Fohod e,

Reason (R) . Stabilizing selection does not promote speciation.

=0 (R) ; %éé@é 206e80 erde B (DF(EiroS.

Identify the correct option from the following

Bob BE° I/S wdEeR) HBoSod
Options :

Both (A) and (R) are true. and (R) is correct explanation of (A)
| o (A)0am (R)£D89, (A) 8 (R) 538 2566

Both (A) and (R) are true. but (R) is not the comrect explanation of (A)
(A) $6c5 (R) 5859, =9 (A) & (R) 585 9568 60

(A) is true, but (R) is false

s x (A) &858, 22 (R) <056 st
(A) is false. but (R) is true

4% (A) 5036 ==th, =22 (R) G056

Question Number : 78 Question Id : 6404118558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fossilized faecal matter is
Berdstmo IohS He Horoeen
Options :
Moulds

eien
Tt

Casts

- Sesen

Petrifications
95 486 gerren



Coprolites

g5 9PeeSen
4. v -

Question Number : 79 Question Id : 6404118559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following human proteins is used to treat emphysema ?
Bobd TES® dorbhdr Tp D8 NGRS SPSD @FES 8 ?
Options :
Alpha - | anfitrypsin
v — 1 Eorod @S
v &) 1 crodi@ane
Alpha - interferon

oo sotbpoeR

Alpha - lactalbumin

o - ormren oS
o [

Adenosine deaminase

E_ .
©8FnE LodD
4, %

Question Number : 80 Question Id : 6404118560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

B0k sl edidchan :

ECG Abnormality Clinical condition
ECG sirgedns 2EH0%8
A) Englarged P wave I) Bradycardia
2BAS P-88oifo GR==galevs
B) Prolonged P-R interval II) Myocardial mfarction
&g seey P-R oo ¥onnasgslonR-t el
C) Shortened Q-T interval II) Atrial enlargement
@) sro Q-T woddo 2OAD B08en
D) Elevated S-T segment IV) Hypercalcemia
2805 S-T oo s ivlevsy

V) Hypocalcemia

Identify the correct match

20 2 MBoahein

Options :



A-1, B-TII, C-V. D-II

1. ®
A-IIT, B-1. C-IV. D-II

2.

A-IV, B-IL C-I. D-III
3. %

A-IIL B-II, C-V. D-IV
4, &

Physics

Section Id : 640411184
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411184
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 6404118561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If A. B and C represent Planck’s constant. mass and velocity respectively. then

A
the dimensional formula of R is

A
BC

A. B 58050 C en 3%58%re arobB Sorofo, B8 H08c5n o Srdodd
il [] e ]

) whch c?—:'v{ﬁjée:v

o]

[

Options :

[MOLOTI }

1. #

[MILOTO}

2. %

[M”L‘Tﬂ

3. ¢

[M‘L?T‘l]

4. &

Question Number : 82 Question Id : 6404118562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

A person walks up an escalator at rest in a time of 60 s. When standing on the
same escalator now moving with a uniform speed. he is carried up in a time of
30 s. The time taken for him to walk up the moving escalator is

sh D) &8 AGDOED el Hi8 60 s re0d® 0B EroBKe. Ehenihy) «f ayPeb
Road o8 30 ssrood® 28 J68, Ethenihi) JHP0bED ©fE iroSns w88 &

S°Q0

Options :
10s

Question Number : 83 Question Id : 6404118563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The magnitudes of two vectors A and B are A and B respectively. the magnitude
of their resultant vector R is R. If 6 is the angle between the vectors Aand B.

the angle made by the vector R with the vector A is o then

A S8k B e Bots $6¥e Hbsrmren $5Hor A S8cn B, o8 208 BhE R
Ging) HBareao R H6%en A HBcse B 0t BP0 0, $8% R& 56 A 35 gfao

[

o, @ond
Options :
Bsina
Ri=+_
L% sino
Asina
_ sinf
Bsin®
- T sing
Asinb
R= sina
4. %

Question Number : 84 Question Id : 6404118564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If a body is projected horizontally from a height of 50 m with a speed of
20 m s, then its speed after a time of 1.5 s is

(Acceleration due to gravity = 10 m s72)

2.8 $0d 50 m 2 Hod 20 m s gasb 88 SHrodBore P80 T, 1.5
S0 Shard oo 96

(o im0 = 10m s )

Options :
25ms!
1.

28ms !
2. &

15ms
3 %

I0ms

Question Number : 85 Question Id : 6404118565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two blocks of masses 8 kg and 12 kg kept on smooth horizontal table are

connected to the ends of a light string as shown in the figure. If a horizontal

force of 500 N is applied to the block of mass 12 kg. then the tension in the

string connecting the blocks 1s

2.8 Hikpd 88z H5ro8s agp 8 kg HBd» 12 kg (B&soodHen Ko Both Haype

o308y, 8D B8035 rBo&® He0s® SrdE dPore EOaFS. 500 N 88e $8ross
worf)y 12 kg (585078 Ko By (HATRHODD, & ot BaywD 03 o0& B8

(=

String (oe80)

8 kg 12kel—— = 500N

Options :

200N
1. ¥

300N
2. %

500 N
3. %

rJ
L
=
Z

Question Number : 86 Question Id : 6404118566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

A body of mass 2 kg starts moving from the origin (0. 0) with an initial velocity

of ( 41+ 43) m s, A constant force of =20 _] N is applied on the body. When the

Y-coordinate of the position of the body becomes zero again. then its
X-coordinate is

2 kg (@508 Ko a8 55D Swre Hothd (0, 0) ok [41+4J) ms ! &9 3508

D00, ol é’ufﬁe:n&,o —"OJ N & H@rhoSto =bRod. wond 6'3‘@:5* 00 i)
Y-8r5H80 shber ooy @ondop, ool X-A8rnso

Options :

32m
1.+

42m
2. %

24m
3. 8

=
4 % 2.8m

Question Number : 87 Question Id : 6404118567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A force of 18 N is acting in the direction of motion of a body of mass 3 kg

moving with a velocity of 2 m s, The velocity of the body when it displaces

by 5 mis

2ms ! 3Kos Eehenoiy 3 kg (5855078 Ko 2.8 S5hHp ob Ehendi) 8% 18 N

w00 (HDrhodaddd. & HHPH g FdFodo 5 m wondhpd ool ) 3o

Options :

4ms!
®

6ms!

2. %

10ms!

Sms!

4.

Question Number : 88 Question Id : 6404118568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Abody A of mass 200 g moving with a velocity v;1 makes collision with another
body B of mass 100 g moving with a velocity V,1. After collisioin. A and B

move with velocities V31 and V41 respectively. If v; = 0.5v; then the value of
vy is

A A

200 g (eSs%0°8 Ko 2.8 5% A, Sifo v;i & 305 100 ¢ (58508 ErBaim V)1
IKosd é@@?@léﬁ?é Hrozd B 5% ofifirdo 2:85%8. odbrdo écrvogé A H5bcsn Ben

SE5Se Vi S08cm Vil S5dnes® 300989, v, =0.5v, sons, v, Densd
3 4 3 1 1

Options :
\Y 2
8§
4
1. ®
Vs
\’i" P e S
2
2. ®
L7
3. ¢
Vq+ Vo
4, %

Question Number : 89 Question Id : 6404118569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ratio of the radius of a uniform circular disc and its radius of gyration about
a tangent in its plane is

28 568 Heesets D) crord8 Hobcin ol Seodd &) H YD Sorr oo [ges
g — o 1 (] [= S i1

.n;\-“u o Y cl-’.\Il","\ 1
;Jﬁam D{;@g ﬁf_a ."\_.o.éjé

Options :

Question Number : 90 Question Id : 6404118570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If a solid sphere of mass 50 g and diameter 20 cm rolls without slipping with a
velocity 5 cm 57! on a surface, then its total kinetic energy 1s

(&55oe8 50 g, a0 20 cm Ko 2.8 5bd o a8 S003 erdHome 5 cm s Bx5088
By, ool Iwdo KBe: €8

Options :
6.25x 10777
1. ®

250:% 1073
2. %

875 x107°]
3. ¢

3.75x 10727
4. &

Question Number : 91 Question Id : 6404118571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For a body in simple harmonic motion. the relation between force F (in Newton)
acting on the body and its displacement y (in metre) is given as F + 3y =0. If the
time period of oscillation of the body is 7 s. then its mass 1s

pte} 1 éﬂmé@é Sedodt éé& a8 B s S0 “Jiﬁ}éﬁ& ao0 F (Eﬁjﬁéé.ﬁ &) SBako
R %Eé@ﬁo%o v ($06:6 &°) g Somogo F + 3y =0 e adkpbidd. 650 ang)

&,ﬁoaﬂa‘)gkﬁ see)a TS e20NN, PR [5:5&5:50'8

Options :

12 kg
1. %

750

1=}

1500 g

i)

200 g

Question Number : 92 Question Id : 6404118572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the amplitudes of a damped hormonic oscillator at times 3 and 6 seconds are
6 cm and 4 cm respectively, then the initial amplitude of the oscillator is

et odhy Fogl &e¥o GnE) Bodd H6hien 3 Hbain 6 Bog seere &
Sdre 6 cm $0605» 4 cm, wond @ Eofo T &°D Eodhd HONS

3/

Options :

20 cm
1. ®



16 cm

O cm
3. ¢

12 cm
4, %

Question Number : 93 Question Id : 6404118573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If an object of mass 1 kg is taken to a height which is equal to three times the

radius of the earth. then the change in its potential energy is

(Radius of the earth = 6400 km. acceleration due to gravity on the surface of the
earth =10 m s72)

1 ke {gﬁéﬁétﬁ“‘% He a8 S5 4r aﬁécﬂﬂtﬁgﬁjé et Bén HHH EEPGN=) Z‘j@%\f}é, C3°8)

=

S €8 &9 Sty

agr

e amerdo = 6400 km, g6 688003 Hthey dwewo = 10 m §2)
Options :

48 x 1097
¢

24 % 1087
2. &

36 x 1097
3. %

12 x 1087

Question Number : 94 Question Id : 6404118574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A body of mass 10 kg is attached to one end of a wire of length 0.3 m and area
of cross-section 1076 m?. If the maximum stress the wire can withstand is
2.7 % 10" Nm™2. then the maximum angular velocity with which the wire-body

system can be rotated in a horizontal circle about the other end of the wire is

0.3 mer&s Hbakn 1075 m? St Bevego Ko a8 8K 2.8 958 10 kg (508
Ko &8 i Sgmbod. © 8 goose K8Y HSawo 2.7 x 107 N m 2 eond, &
Bois D58 Hidore BN-55D BP0 a8 §8e SHrosd %ﬁe}éoéj’:‘ goeso WHdGPH
@ 8K 1565 Bdad o
Options :
4rads!

1. ®

5rad s}
2. &



9 rad s7!

3rad s7!
4.

Question Number : 95 Question Id : 6404118575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A small solid sphere of mass 10 g and density 2600 kg m is dropped into a
long vertical column of glycerine. When the sphere attains terminal velocity.

the magnitude of the viscous force acting on the sphere is
(Acceleration due to gravity = 10 m s> and density of glycerine = 1300 kg m=)

10 g (&5&5078 shdain 2600 kg m= Folse e el D) 50d figo Sroltss He e
EPtg 88 wom HHOD Qogﬁoéﬁg} DEHDEBB. o S SreR)y ErodBIPD, @

g0 BT e aoo H65rso
(P9t0sy S0 = 10 m 572 Sobain ABES wroEss = 1300 kg m3)

Options :

20x 103N
®

25x 103N

75 x 107° N
®

50 < 103N
4. &

Question Number : 96 Question Id : 6404118576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If two temperatures on Celsius scale differ by 25°, then the difference of those

two temperatures on Fahrenheit scale 1s

[y

Bob ééﬁf{ﬁeﬁ@ BgEerdo  1OYOHD end 25° wowd Sr0osreS Tend @ Bod
o = o L o

& (-

&6fHSe SEeto



Question Number : 97 Question Id : 6404118577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a Carnot engine working between the temperatures 300 K and 600 K has
work output of 800 J per cycle. then the heat supplied to the engine from source
per cycle is

300 K s508ain 600 K eﬁ@é@ bl éﬁ-é@@h a8 S‘B%L abol@o 538 Jiz=Rg 8001J

H0 39S, (58 SPosd & choErds t%ag%oﬁdo B0l B8HTr edys G0
- = = )

1600 J
4.¢

Question Number : 98 Question Id : 6404118578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

During adiabatic expansion process. if the temperature of 4 moles of a
monoatomic gas 1s decreased by 100 °C. then the work done by the gas is
(Universal gas constant = 8.3 J mol™! K1)

Ecgbf'cgéé TS (DBt 4 Frde DESSETEE Sroingd &g 100 °C &h:
& A BB HD

(S5 BE arain yoeoo =8.3J mol K1)

o))
ok

Options :

415017
1. ®

830017
2. ®

24907
3. %

4980 J
4. ¢

Question Number : 99 Question Id : 6404118579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



At constant pressure. if the work done by a gas is 40% of the increase in the
internal energy of the gas, then the specific heat capacity of the gas at constant
volume is
(Universal gas constant = 8.3 J mol* K1)
25 Hlatls) 5 &8 AN 305 H oo w0t FBSF 1L 40%, ©ond ¥l
$5BETes0 HE PN 8-’8%5@ :*vESJé 50
(Tt B8 arecin ramoéo =8.3 Tmol™ 1

Options :

29.05 Tmol™ ! K1
1. %

25.35 Jmol! K1
20.75 Tmol 1 K1

32.55 Jmol 1 K1
4. %

Question Number : 100 Question Id : 6404118580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A spherical black body of radius 12 cm at a temperature of T K radiates a power
of 400 W. If the radius of the sphere is doubled and absolute temperature is
halved. then the power radiated by the body is

12 cms TGS T80 He a8 Meessd ém S TK ﬁs;lﬁé g $0DDVPDH @b 400 W

a‘@t‘r*ﬁl ﬁmamom Figo oo ,\m U"c\)" 6*‘?‘00} 9, H5 éﬁg 8% BK0 DHS e B0y
ﬁmg&oé a‘vtfngéo

Options :

» 100W

200W
2. %

400 W
3 %

1600 W

Question Number : 101 Question Id : 6404118581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



When a stretched string is vibrated simultaneously with a 440 Hz tuning fork. a
beat frequency of 5 Hz is produced. If the experiment is repeated with a tuning
fork of 437 Hz. the beat frequency produced is 8 Hz. The frequency of the
string 1s

8 rrbichads 8 440 Hz 3redio Ko §8%otos’® a¥soos® Sobhotihlipth,
5 Hz #rdsdidgo e Dodaren 688 S5008. ©d [Bairmed) 437 Hz @°d:ddo Ko

@\é}ijoﬁﬁr:@ fmﬁ)“‘“fﬁu &858 ©ond DB ?“Kzz@ézo Hz. @ons e 8% éiﬂzégé-égo

Options :
445 Hz

Question Number : 102 Question Id : 6404118582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The focal length of a convex lens immersed in a liquid of refractive index 1.2 is

f; and its focal length when immersed in another liquid of refractive index 1.25

18 fz- If the refractive index of the material of the lens is 1.5. then fl 3 f2 =

.8 Bogmses 5&;:‘»‘”‘% 1.2 ;i]{_éep’éeﬁ Hgo He sl {gﬁéoé‘: BoLRHPE @
Tegr50880 f F0Bcin @ By 258 é"%é Hoeato He Y S50t B00DSTPEH

) argrgosto f,. 868 Hoediy HBEES Hego 1.5, wowd f) 1 f, =

Options :

Question Number : 103 Question Id : 6404118583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If two light waves of intensities I and 41 superimpose at a point with a phase

: T : ; ‘3
difference of FY then the resultant intensity at that point is

; T .
I 08050 41 H15 BOA, Bagito E He Both seof dorren 2.8 othd éﬁg oG e
3068, & HoHDH éts::g $0 BB
Options :

q
1. ¢ 2

71
2. ®

61

81

Question Number : 104 Question Id : 6404118584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The electric flux through the surface of a thin spherical shell of radius 6 cm.
having a point charge 2 uC at its center is

6 cm Zﬁé‘%‘ng Ko a8 Hensd Klgrse g5y80 Bolso 5 2 pC e.eﬁ%?ﬁ)c;-h 600N, 880
dwo ooe DS wfario
Options :

36T < 10° Nm?2 !
1. ®

721 x 1° N m? !

367 x 108N m? !
3. %

727 % 10° Nm?2 !
4.

Question Number : 105 Question Id : 6404118585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capacitance of a solid sphere of radius 18 cm is

18 ecm anécﬁ‘mgo Ko 28 s B¥o sy SarhEa)
Options :

40 pF
1. %



40 uF
2. ®

20 pF

20 uF
4. &

Question Number : 106 Question Id : 6404118586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three point charges +10 uC. +20 puC and +40 uC are placed at the vertices of an

equilateral triangle of side 1m. The electrostatic potential energy of the system

of the charges 1s

Im gheso He a8 Hiherir (B2he0 éoaa: 38 Srth doth sazen +10 nC, +20 uC
0800 40 pC sodadaron. sHwe Eﬁé&’)é} 28 Dsxd é’g@a %8

Options :

6.31]
1. %

1261
2.

Question Number : 107 Question Id : 6404118587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A48V battery is supplying a current 12 A when connected to an external resistor.
If the efficiency of the battery at this current is 75 %. then the internal resistance
of the battery is

48 V amgedd a8 eriyy 08°508° 0050 12 A DS (Haestpnod. e Diigd

el - = 0 . B .
[Barsro éc‘g e eyt 888 75 % ©00s, @ @b ®088)5°%0

Options :
3Q

Question Number : 108 Question Id : 6404118588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
In the circuit of resistors shown in the figure, the effective resistance between
points A and B is

He088 3023 08re Bochod’, A #:80n B Hode Efon‘j3 308 8f%o

Options :

10 Q2
1. %

2. 8% 7

3. %

150
4. ¢

Question Number : 109 Question Id : 6404118589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the operating magnetic field in a cyclotron for accelerating protons is
668 mT. then the angular fequency of the oscillator of the cyclotron is

(Charge of proton =1.6x 10717 ¢ and mass of proton =1.67 x 12 kg)
2.8 DEErSS [@EtrSed ééf%éa BoBoHeH &IGAFHoDS wchamed BEo
668 mT wona, .n,%’svj*v"? &l sdoh #suza’;.égo
(PerS oo =1.6x1071 C Sbo (B8-S S850-8 =1.67x10727 kg)
Options :
9.6x10” rad st

1. %

3.2x107 rads™!

12.8x10" rad s~}
3. &



6.4x10" rads~!
4.

Question Number : 110 Question Id : 6404118590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two concentric loops of radii. 't and 'R’ are in same plane such that R >>1. Ifa
current I is maintained in the loop of radius 'r'. then the magnetic flux associated
with the loop of radius 'R' due to this current is

T S08din 'R a'v*é“‘,p—:"ﬂt:g@; e Both ESolS erDen a8 Soodd &:9)3), (mo0tHs® R>>1).
o ' e St | DeSgd (Hario S, 62 Heod R Tgego Ho ernd

©BBoTrED HoE ©abmrd ©faEEo
Options :

JtpOIr:
% R

gl

2. ® 2

“

IR~
2r

3. ¥
IR

w2

Question Number : 111 Question Id : 6404118591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three identical bar magnets each of magnetic moment M are placed in the form
of an equilateral triangle with north pole of one touching the south pole of the
other. The net magnetic moment of the system of magnets is

M eabamos (grindo He ¥ORHErddd &Srth Somdhadooroi .8 Jioars™
Bgheso wsbod® afmed = te] QSE:,aSo Bo&amed) &8s Cﬁe}av?\)& aoéea@ 3T

® edbImosre HHY HOS ©chImed grddo
Loy L= [} T -

Options :

J3M

1. ®

M

2

bk

2. %

3. %



zero (o)
J o

Question Number : 112 Question Id : 6404118592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When the current in a coil decreases from 10 A to I in a time of 2 seconds. the
induced emf in the coil is ;. When the current in the coil decreases from I to
zero in 4 seconds, the induced emf in the coil is e,. If the ratio of the induced
emfs e, : e, is 2 : 3. then the value of T is

2.8 é%ﬁzﬁjéaéiﬁ &‘Itﬁj}:g [Barsro 10 A &0l 15 2 B0 a0t éﬁé, HK xﬁatzéﬁ |'§36é
emf e,. es?ﬁxﬁ.,ﬁ,eﬁ“ xS (Hardro I &od Homd 4 D¥og sce060 S48, & xﬁjézéﬁ

o Oy

(268 emf e,. 36 emf e DB €)1 €y =2: 3, oo I Dendd

Options :

Question Number : 113 Question Id : 6404118593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a capacitor of 500 nF is connected to an ac source of frequency 1 kHz. then
the capacitive reactance of the capacitor is

500 HF EOJ PJvaE.ﬁj ]. kHZ o ﬁ@ c.n.«g ac w;ﬁs“wg &@a]é U\HO Eﬂl}&[}l}

Question Number : 114 Question Id : 6404118594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the amplitude of electric field vector and frequency of an electromagnetic
wave travelling along z-direction in vacuum are 180 N C! and 60 GHz
respectively, then the equation of the magnitude of the electric field of the plane

electromagnetic wave 1s

Erd06° 2-096° (BAPBoDH NP el gEadod Sorio @Y g8 F& BodS
HODE DO FPIeHIgo v 180 N C ! Hoeatn 60 GHz ewoxd, & 580
D5BCHIFNS Sorfo @), DS F& HoLre Ve

Options :

E = 180 sin 1 (1000z — 60 x 10°t) N C}

1. %

E =180 sin 27 (200z — 6 x 10 N ¢!

2.

E =180 sin 2m (100z— 3 x 10!%) N C!

E=180sin2n (10z—3 x 10°t) N C"!

4.%

Question Number : 115 Question Id : 6404118595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e e y _— ~ "
An electron of specific charge — enters an electric field. E = ~Epi at a time
m

t= 0 with an initial velocity vi. If & is its initial de Broglie wavelength, then
its de Broglie wavelength at a time ‘t’ is
%8 ¢ = B g = 2 g
&%a—ga-ﬁo — He a8 DO[ES, 1= 0 see0 &8 Vi 3K08® E =—Epi Dxs EPEostDs
m . " R
FHaB0E6. D &0 & ledh S5oK3E 50 A
BB50138 50

o @O, ‘I’ oo HE =l & |ezedn

Options :
Ao

[ eEgt)
Gy
LV

) eEpnt
,"D 1+ 0
mv

2. ®

mv




A 0

(. eE,t)
gt |
\ mv )
N ;
mv
4.

Question Number : 116 Question Id : 6404118596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
: ; h
If the angular momenta of electrons in two orbits of hydrogen atom are — and

T

1.5h

. then the ratio of velocities of electrons in these two orbits 1s

i

(h - Planck’s constant)

h
=

h 1.
RE%S HB5res D Both EE 5050 dogihe SETew {_C’Jééﬁrwao — 0Baim

o T T
®ond @ Both ég_ageéﬁﬁ) DosEhe Jre DS
(h - 5208 Hoeoo)

Options :

3
1.

2

Question Number : 117 Question Id : 6404118597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the half-life of a radiactive substance is 32 hours. then the fraction of the
substance decayed in 4 days 1s

2.8 é&cﬁ.ﬁ@’sﬁéé S o8E08 seeo 32 Hoten wond, 4 8red® & aﬁmvgo Eoho

'mcﬁd Faitate)

Options :



4.

Question Number : 118 Question Id : 6404118598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the collector and base currents of a transistor in common emitter configuration
are 5 mA and 50 pA . then the current amplification factor of the transistor is

&6 6rpds Do o6t 2. @:D”‘noc: g DEBS 5Bk sgrBo DeSxs (Harsien

AP 5 mA 0bcin 50 LA o, @ 1&3%1’:\?,0 [Farie cﬁgﬁ =880

Options :

100
1. ¥

Question Number : 119 Question Id : 6404118599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If two diodies D, and D, are connected as shown in the figure. then

Both dar&en D, &8&adw D, He108° Sr0% Do EenHndBD, ©ond

1kQ D, ;
5V e ANV & =2V

+5V .—dw__| S o +2V

Options :
both the diodes D, and D, are forward biased.

Both &@rEen D, H56c5m D, H5t8%0s 65:9.
1 2 e ol



both the diodes D, and D 5 are reverse biased.

Boih Ear&en D1 H0Ba%m D'2 %55%%@055 &)3.
2. &

diode D, is forward biased and diode D, is reverse biased.
&@rE D, H8°8508%, 8@rE D, 858°8508% 653

3 %

diode D, is reverse biased and diode D, 1s forward biased.

E@rE D, 8808%085%, &rE D, H88tosi b
1 o) 2
44 \f © ) CA

Question Number : 120 Question Id : 6404118600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The minimum length of an antenna to transmit a signal of frequency 3 kHz is

£ " 4
3 kHz FPdehsco Ko HoBaredd [Harto Joheeds seHins 2087 GnE) EJ

i
2 s o

afs

Options :

- 20 km

25 km
2.
S 50 km

75 km
4. &
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Question Number : 121 Question Id : 6404118601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The wavelength of spectral line corresponding to electron transition n = 3 to
n =2 for Li’" ion is 'A'nm. What is the wavelength (in nm) corresponding to
electron transition n =4 to n =1 for He" ion ?

Li%* eoie5% &-@@5 $655%0 1= 3 Hod n=2 % Jowohod HBHL O SBoKgY 50
. nm. He™ edir5% @@gﬁ H858%0 1 =4 H0d 1 =1 B Sow0§od HPHer o0}

$BoKgy 5o (nm &%) Qo ?

Options :

==

w | >

2.

(95
®
o>

] | b

4. &

Question Number : 122 Question Id : 6404118602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The orbital with number of total nodes as 3 and angular nodes as 3 is
3ndo SFe Bogg 3 H0bcH B'dob Fhen 3 md &) wherd
Options :

| 3d

4d

2. ®

3.J 4f

N
=

4.%

Question Number : 123 Question Id : 6404118603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following. elements are correctly arranged in the decreasing order
of atomic radius ?

g 2 cho = il
(Bob ar&E° BRHoth shresre ad HBsre srgRrdsn e‘_ﬁlfj B0 HBre e arzon?

Options :

% C(>Si>C>F

" S1>CEe>C>F



Si>Cf>F>C

L% o 8SixFEuC

Question Number : 124 Question Id : 6404118604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The pairs of compounds which have the same molecular geometry are

28 @egahdd) SO ééaéép—?ﬂ: ezotden (only = SrEdh)

I) BF3. Bl'Fg H) XEFE .BeC f:
III) BC(3.PC{; IV) PCt3, NC/3
Options :

I & III only
IT & III only
I &IV only
®

IT & IV only

Question Number : 125 Question Id : 6404118605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following sets are not correctly matched ?

BoB & SMehen HOP wSBchaldh ?

D O%i 0‘_3_ - diamagnetic ($a5rarp)
) 03.0, - paramagnetic (Horahamos)
1) 05. 0%_ - diamagnetic (Sciramos)
IV) 03. 0‘_}" - paramagnetic (Horoharos)
Options :
II & III
1. ®
I&1II
2. %
; v HM&IV
L% I&III

Question Number : 126 Question Id : 6404118606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following
BobER HBNBohdn

Statement-I  : Real gases exhibit ideal behaviour at high pressures and low
temperatures.

ey -1 . o) aﬁ’é[ﬁéu SoBkn 0¥ hidTre 8 Qe TFOen Bt (ENEH
etz

Statement-II  : At high pressure, all gases have compressibility factor (Z)

eitheras 1 or< 1.

&

vl -1 T obE LHEHo S8 oy ke

o [=] =

=Tol-evlaln)

$05HES ko (Z) 18 <1re

The correct answer 1s
LBIE Do
Options :
Both statement-I and statement-II are correct

ol s080kn apar-II Bodir SBGEL.

1. #
Both statement-I and statement-II are not correct
o?&&}c:—l SoBa%w c\?&@é']:]: Botir J0gHR .

2.
Statement-I 1s correct. but statement-II is not correct
_""SD'-I BTG, =0 o‘ﬁ'ap'-H QBTHHG To.

3 0%
Statement-] 1s not correct, but statement-II 1s correct
o?c:s:,};—l XVBGHHG =, =0 agsp;—ﬂ FStaTensiaial

4. %

Question Number : 127 Question Id : 6404118607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K). a gaseous mixture contamsH and O,,. The total pressure of the mixture
1s 2 bar. The weight percentage (w/ u)ofH is 33.33%. What is the approximate
ratio of partial pressure of H, and O,
T(K) &8, 2.8 adin Do|E00s" H, 52805 O, oo, (s oo 55550 2 bar.
H, @n¥) grdado (w/w) 33.33%. H, 58050 O, o ar§8 Stere D58 oo
{pOE‘j?

Options :

1. & 8:1



Question Number : 128 Question Id : 6404118608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In acid medium. dichromate oxidizes sulphite to sulphate. In this redox reaction.
the oxidation state of sulphur changes from x to y. What is the value of (x +1) ?

iy oirdgod® BESDLES, ﬁg;é'i_ﬁn éé;_*&?rw e_a@rcééeao o, S beeh) tﬁfﬁééﬁ Send
0¥ Psé:;éfﬁa'a 28 x ok ¥ & Hrdib. (x +¥) Densd Qod ?

Options :

1. ® 8

6
2. ®

3 10

Question Number : 129 Question Id : 6404118609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is incorrect about enthalpy ?
éjoc;v@g:@ H020809 (Bod S DH H65] a5es ?
Options :
Its absolute value can be determined accurately.

6D 555 Dendio ghSorr HPZonodHSn.

It is a state function.

=h b ?88 abaso.
2. &

It is an extensive property.

; x 9028 OB HYo.

Enthalpy change can be determined using the first law of thermodynamics.
&IO@'&Q}: S8 SrS8EFTS BH Dahihimd 6HEPACD E-gono{ﬁétﬁaéj.

o
—E
=

4.%

Question Number : 130 Question Id : 6404118610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The standard enthalpy of formation of C,H,(g). CO,(g) and H,O(f) are 52.
—394 and —286 kI mol™* respectively. The heat evolved by burning 7g of C,H,(g)
is
C,H,(g), CO,(g) 585 H,0(f) o (H5re HoBee &-om@;&o Hthdre 52, -394
S08asn —286 kI mol™L. 7g & C,H,(g) & &irSo JoboddHd Rendes 630

Options :

L 353KJ

1412 kJ

2. %

706 kJ

1306 kJ

Question Number : 131 Question Id : 6404118611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K). K value for the dissociation of PC/s is 0.04.
T(K) 88 PCls O@raa8 K Dens 0.04.

PCls(g)=="PCl;(g) + Cl(g)

The number of moles of PC/s to be added to a 3.0 L flask to get chlorine
concentration of 0.15 mol L™} is (approximately)

865 s 0.15mol L e sroer0a 3.0 L g Sendidedid PCls drde Sogy
odirthre)

Options :

1.7
1. %

. n L2

2
3.¢

o= LB

Question Number : 132 Question Id : 6404118612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The pH of a mixture containing 100 mL of 0.5 M acetic acid solution and 50 mL
of 0.2 M NaOH solution is (pKa of CH,COOH=43)

(Given : log 3 =0.48. log 4 = 0.60)

100 mL 0.5 M 0%&8 e [mrdewo $6ain S0mL 0.2 M NaOH [rseso &) &b|@o
ang) pH (pK, of CH,;COOH =4.8)

(20%6 :log 3=0.48, log 4 =0.60)

Options :



Question Number : 133 Question Id : 6404118613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following methods are used to remove temporary hardness of water?

08 sra)PE se8XEd Fohohid (Bob o HPdei eNariar?

I) Boiling
SoRodhe

II) Calgon method

4

] D58
IIT) Clark's method

526, H588

The correct answer is
$¥B@H HErgrdo (only = Srg@ah)

Options :
I only

1. ®
- I & III only

IT only

[LII&IIT
®

Question Number : 134 Question Id : 6404118614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following
(BobER HBHBohEn

Statement-I ~ :  Alkali metals dissolve in liquid ammonia and form deep blue
solutions.

gy -1 L T8 e (85 E-i“é@(ﬁ?@s £BA Sk DDEorD [Tl
B==00.

Statement-II : The order of melting and boiling points of alkali metal halides
follow the trend: Fluoride < chloride < bromide < iodide.

seoe; -11 D 8 e P (DS HBakn wriyNe FTorer K83 Ko

235 < 36 < (FRE < eFEE

The correct answer 1s
QBGLR Vo
Options :
Both Statement-I and statement-II are correct

= *5-I Fobain maa;,-;-ﬂ Bodr SBTHY.

1. #
Statement-I 1s correct, but statement-II 1s not correct
F;&g:&—[ JBGHHB, == ?533,3;—]1 LBGHLHE =K.

2.
Statement-I 1s not correct, but statement-II 1s correct
a:gsp;-l DB T, =0 aﬁggaé-ﬂ pstolenstalag

3 0%
Both statement-I and statement-II are not correct

. a‘c:sp;,-l v lelovey ?53_3:-11 Bodr JSBGERD ==
4, = =

Question Number : 135 Question Id : 6404118615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among B,O,. Al;03 & In, O, the oxides which react with alkalies are
B,O;. ALO3; & In,0, oé’, srores® iﬁfﬁéc%“oé P_SE::EP_D (only = Hr(Eh)
Options :
Al;03.In;05 only

) BEOS- :13303 0111}'

. B;0;3.In,05 only



BEO‘;.AKJ'rthq &h1203

4.%

Question Number : 136 Question Id : 6404118616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Observe the following given changes.
(8o adxmisd Srdneih 584003508,

high temperature high temperature
©OBE SIEHS ©hE Saps
wood — =Y : coal Y
&g absence of air g5  absence of air
- md Soce ™o Sowe

X, Y respectively are
X, Y en Sthdimre
Options :
coke. coke

1

&5, &t

om

1. ®

charcoal. coke
5.5 g
- 6%, 88
charcoal. charcoal

a’»&”séa'? ; QDE)-EBT-PE

coke. charcoal

. g°E, 955;5
4,

Question Number : 137 Question Id : 6404118617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following
Bod=EQ H8KBothsm

Statement-I : CO, 1s released into atmosphere by burning of fossil fuels
and increase in CO, levels 1n air causes global warming.

T8y -1 . o 8 modmroh SobloddH CO, TES8n0sE e
©HHob Hbckn mdS* CO, FFow BBNS 4o Jakod.

Statement-IL : CO 1s released into the air mainly by automobile exhaust and
it 1s a lung uritant.

08y -11 : @esﬂamgéu 2009 Senda a}iﬂﬁ:ﬁ:@u oo (Bdoedorne CO =98

Ve ©HHod 5Bk» ©b @ebdae (BE%S%o.

The correct answer 1s
LBGHR Bdreeo
Options :
Both statement-I and statement-II are correct.
1% S E'I v vleloven a‘::_g;;-]:[ Boir HBFToR.
Both statement-I and statement-II are not correct.

S E'I o8k a‘c:apa-ﬂ Bolir LBGHRY 5=

Statement-I 1s correct, but statement-II 1s not correct.

eyl ROGHRG, =R gyl SBFHHS =th.
3.

Statement-I 1s not correct, but statement-II 1s correct.

a0yl BGHRG =, =0 aya-Il HBGEKE.
4. %

Question Number : 138 Question Id : 6404118618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following compounds is most reactive towards electrophilic
substitution reactions ?

= - £ E ot o 5
ot fséz;@”&m@éﬁ I8la) odlf_:;%esgg@s (885 Stedey wdHE Soxdeod Kob ?
= e L = L [ ¥ [ ak

Options :
OH



CH;

2. %

Cr
3. %

NO,
4. %

Question Number : 139 Question Id : 6404118619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A compound (X) produces an alkene when treated with H, in the presence of Na/
liquid NH,. Ozonolysis of this alkene gives ethanal and methanal. "X" is

(X) &0 &8 Zﬁixﬁ’m hy H 5° Na/ {[ny \IH rJESJéo'JfJ“ “‘6“ 22657 2 a8 \_'3&)%_{:.} ©8:5086.
= &,é;,gucﬂj 58590880 B afard B mzcﬁ eHen efaron. "X" o036
Options :
1-Butyne
- 1-20585
2-Butyne

e Y =
5 % 2 GJJE\&M

Ethyne

&3

3. % -
Propyne

EF2S

4.

Question Number : 140 Question Id : 6404118620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An element crystallizes in bec lattice. The atomic radius of the element is
2.598 A. What is the edge length (in A) of the unit cell ?

2.8 Hireddn bee sreddnst ra‘.éfﬁgéésao Dobdh. Horedd H8Srpo ags%vgm
2.598 A, 050 26 mwoH 28 (A o) dod ?
Options :

._1_

1. #



2. %

3. 0

Question Number : 141 Question Id : 6404118621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A 1% (w/v) aqueous solution of a certain solute is isotonic with a 3% (w/v)
solution of glucose (molar mass 180 g mol™). The molar mass of solute (in g
11101_1) is
28 o980 @nE) 1% (W/V) smepedeso, 3% (W/V) 58S (Frerd (85508 180 g
mol ™) (508t 23St RET &5B. (8o Irerb ($d5008 (g mol e&f)
Options :
| = 120

4, ® 80

Question Number : 142 Question Id : 6404118622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following
Bodz=& H8HBothsin

Assertion (A) : Nitric acid - water mixture 1s a maximum boiling azeotrope.

D880 (A) . BEE eo-0% ESo 28 gl TENFSE DRSBTS,

Reason (R) : Nitric acid-water mixture show positive deviation from
Raoult's law.

=30 (R) . BIEE eio-0% SoiEo TS Achio Hof &% Hiloy ok

The correct answer 1s
QBELR V&regrRo
Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| (A) mBas (R) Botse #399, (A) & (R) 588 256ee.
1.



Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A), (R) Bose 8388 =0 (A) % (R) B8 D58 ==%.

(A) 1s correct, but (R) 1s not correct
. (A) 858, =0 (R) 3856 =.
3.
(A) 1s not correct, but (R) is correct
. (A) 888 =, ==H (R) $B%6.
4.

Question Number : 143 Question Id : 6404118623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following cell at 298 K.

298 K 558 (Bob 3oérd)) HbKBosad.

>
M(s) | MZ(x M) || Zo® (v M)| Zn(s)
2

[M™7]

S

|Za="1

The cell reaction reached the equilibrium state. The value of log 18 53.33.

What is the value of E e,+ ~ (in volts) ?
M /M

R

s L -\d--'_ = T L

ot S8 JaRal IHhHHH. log L2 -~ ] Densdd 53.33. Ee:, Dend (V ed?)
= & [Zn*"] M~ /M

Options :
+2.36

Question Number : 144 Question Id : 6404118624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The time required for 100% completion of a zero order reaction is

[ERI = Initial concentration of reactant. R]

28 &riy [EErod St 100% 8 seaerds iﬁ seo ([R]) = Bosradso, R ang)
[Ertosl egs)

Options :



[R]o
1. &

[R]g
- 2k

[Rly
3.¢ k

[R]pk
4. &

Question Number : 145 Question Id : 6404118625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statements regarding the enzymes

o

oBEHedh vonodod $BY wpew HBotod. (only = &r(@d)

I) Almost all enzymes are proteins

o ©f) doBmes ESE.
S a—

II) Enzymes are not specific in nature

JoFaoen a‘iéwéé:’ SR 5#% - Yelntu

[IT) Enzymes work effectively in the pH range of 5-7
doBSoen pH 5-7 $586&° SSgsogorr HRBRow.

IV) Enzymes work effectively between 310 K and 330 K temperature
doZoen 310 K H58cse 330 K esffiis 02 SSogEodorT 5Zom.

Options :

I & IT only
1. ®

IT & III only

[ & IIT only

II & IV only

Question Number : 146 Question Id : 6404118626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following is an example of a positively charged sol ?
Bod =BE DB By P ¥ suEetes ?
Options :
As.S. sol
As ZS3 b ital
1. ®
Congo red sol
seoRP8E o5
2. %
T10, sol
TiO2 S
3.
Gelatin sol

4 % Bods rd

Question Number : 147 Question Id : 6404118627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Copper matte mainly contains
5256 SrHS° (Horsorr 0B

Options :

CuS. Fe,S;
| ® -

Cu,S, FeS

Cu,0. Cu,S

3. %

4% FeO, FeS

Question Number : 148 Question Id : 6404118628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Zinc sulphide reacts with oxygen and gives two oxides. X and Y. If nature of X
1s acidic. the nature of Y is

20E5SE 68288 $5;5°0b, X H8am Y 9 Soth ef)Eem axnob. X u Hgrho

Hod wons Y GBoo¥), Kxgrado

Options :
Acidic

)
1. %



Basic

528
2.8

Neutral
B30

Amphoteric

A
4 J &'G,DJG\EC%J ﬁ

Question Number : 149 Question Id : 6404118629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Am®™ (Z = 95). the number of f-electrons with (n + /) value equal to 8 is
(where n, / represent principal and azimuthal quantum numbers)

A’ (Z=95) & (n+1) deoss 8 & Sxmdore aXy f-deogeg Sosy (0, / o
SoBcin AREES Trotd Kogredy Krddton)
Options :

-

1. %

2.

Question Number : 150 Question Id : 6404118630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
Bob 7ED asihin

List-I (Complex) List-IT (Isomerism)
=51 (Soggo) Dae-II () %en)

A) [Co(NH;)5Br]S0, I) Optical (:5§)

B) [('0(¢11)5]3+ II) Linkage (200¢5)

C) [Co(NH3)5(NO,)P* I1T) Geometrical (£%)

D) [Co(NH;3)3C/3] IV) Coordination (555305 )

V) Ionization (ecHHE5es)

The correct answer is
HBEhY Jdrgrido



Options :
| & A-V,B-II C-I, D-TII

A-II. B-1. C-V. D-III
2. ®

A-V, B-1, C-II, D-II1
3.¢

A-1I1, B-I, C-1V, D-I1

4.%

Question Number : 151 Question Id : 6404118631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct set from the following

(Bob &S XBGH HLAY rdoHTn.

Options :
Copolymer - addition polymer - Natural rubber

e Sr006 - Hoded ;06 - Hive Bepb
Homopolymer - condensation polymer - Nylon 6. 6
Herefich D6 - Soxnsi Db - Je=S 6, 6

Copolymer - condensation polymer - Nylon 6
8%rDx06 - Hogid arDHb - Jerd 6

Homopolymer - addition polymer - Neoprene

v Serfioh POHE - Dokesd D6 - DAEHS
4.

Question Number : 152 Question Id : 6404118632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following reagents will oxidise glucose to gluconic acid ?

(BoB & seBseen KpB'Ei KpEPOE eshore ngrc,édeao PSaron 7 (only = SrEd)

I) Br; /H,O II) HNO; ITT) [Ag(NH;),]" /OH™
Options :
| % I. IT only

I. IIT only
2.

I1. III only
3 %

o v T



Question Number : 153 Question Id : 6404118633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

During the denaturation of proteins. which of the following structures will remain
intact ?
iE?‘é?)é Ear 505580 1Bod Qo=esofen, o SrEo (Herdso s [ sy ?

Options :
Secondary & tertiary (2°, 3°)

BrBadh Hbatm &HBah (2°, 3°)
1. ® '

Tertiary only (3°)

ééé@@ SrE$ (39)
2. %

Primary only (1°)
s v B S8 (19)

Primary and secondary (1°, 2%)

(S5 FBa xbad (1°, 2°)
4. %

Question Number : 154 Question Id : 6404118634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement regarding artificial sweeteners.

&
g@s 82 sedsrad Joaohod HosD g hiodok.

Options :
Saccharin 1s the first popular artificial sweetener

FEBS ©Hdd InSBr et SPodS 88 &% =50
1. &

Aspartame is stable at cooking temperature

©Dar0m ®l0 @F8o Sot esfise 58 Lo
& B [~

2.
Among the artificial sweeteners. alitame is a high potency sweetener

ée}@éj 842 sodrerd® w85 ol @ééﬁ]é @d&sd@&‘& ©obod Hhseddo
3. % -

Sucralose is a trichloro derivative of sucrose

DESE e DEtE 0¥ Beies LA
4.% N '

Question Number : 155 Question Id : 6404118635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

W hat are X and Y in the following set of reactions ?
Bod 3850 $58086° X 5800 Y en 28 ? (dry acetone = 878 05¢5°5)

/\E e X /\I

Br



Options :

Nal/ dry acetone; SbF;
1. ”

Nal/H,O: NaF

Nal/H,0: SbF;

Nal / dry acetone: NaF
4. 8

Question Number : 156 Question Id : 6404118636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Sy;2 reactivity of the following compounds will be in the order

& &
Bod SSpFmre Sy2 Sopded Edo

IT) (C¢Hs),C(CH;)Br IV) C¢Hs CH, Br

Options :

M<TI<I<IV
1.+

M<I<O<IV

2. %

D<M <IV<I

N<IV<I<II

Question Number : 157 Question Id : 6404118637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s 'Y" in the following reaction sequence ?

Bob éo’zg\_féeé;oéﬁ Y'28 ?

D)NaOH <~ (CH3 CO)0 vy
X) 20 ,v)
ii)COy/HT H* “

Phenol
Sare

Options :



OH
COOCH;

OCOCH;

[:j::I,COOH
2.9
OH
[::E:J,COOCH5
3. %

OCOCH;

[:ijiJ/COOCHi
4. %

Question Number : 158 Question Id : 6404118638 Question Type : MCQ Option Shuffling

Correct Marks : 1 Wrong Marks : 0
Which of the following sets is correctly matched ?
Bod S 5 ¥ Hore 2sdchatod? (Anhy = eary)
Options :
CgHsCN — DIBAL - H. H,O — Stephen reaction

8o . E 5
1. i@ gq_r{u 'tﬁtjo

CgHg —CO.HC/, Anhy A/C/; — Friedel-Crafts reaction

& o = =
- ES-seg) S8

CﬁH_qCHj = (l) C]OECJJE 4 CS:(II) H30+ = Etﬁl‘d I"EﬂCtiDll

BerE B8
3.¢ c

: Yes Display Question Number : Yes



C¢HsCOC!{ — H, / Pd— Rosenmund reduction

5255008 gabhsdeso

Question Number : 159 Question Id : 6404118639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The TUPAC name of the product Z in the reaction sequence 1is
dm&{:ﬁé:oés ad o 7 ans) TUPAC s=bo

ZO/H" \ 1) Ba(OH)
CH, T oy O oy e
(major) )4
(=)
Options :

But-2-enal

m;éﬁ—2—éam—=c5
] ®

4-Methylpent-3-enal

4-E35 00 -3-HS
2. &

4-Methylpent-3-en-2-one

4-5gaS ot -3-5H5-2-55
3.

2-Methylpent-2-enal

2-gSno-2-&oS
4. %

Question Number : 160 Question Id : 6404118640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the end product "Y' in the given reaction sequence.
E’Af%:,éﬁ z‘étﬁ'g L_éé;oéﬁ E5la) éé‘éﬂ:é&o "Y' & HhBohEm.

. £ 2 [l) -\‘_H3 . Br, sY
Terephthalic acid @A °° NaOH

(1) NH; X Br,
(2)A NaOH

[y

s

5508 esspo

Options :

Br NH-

1. %



2.

Br ONa



